IND

[
7
5
4.
0.
o
/
3
8
1

F X

Roof
Roof
Roof
Roof
Roof
Wall
Wall
Wall
Wall

2 100777 £

fan
fan
fan
fan
fan

dimensions.

FPDUOB0—200 construction.
PNUOS0—-245 construction.
PNU255—300 construction.

mounting.

ran dimensions.

fan PDUOB0—200 construction.
fan PNUOB0—245 construction.
fan PNU235—300 construction.

0. Wall fan mounting.

Joseph A. Reed, PE

TX PE 100777
Architectural Testing, Inc.
TX Firm F-11869

;;’* (CENSERE 130 Derry Ct.
B SfO M: York, PA 17404
37/ /7 717-764-7700
Project No.: E8434.02-122-34
DWG NO. LET. REVISION RECORD BY CKD. DATE . .
_ 686 /759|Sheet 1/ 1 e o WAL MOUNT [ TR | 768 [12/74/75 Acme Engineering &
POU-PNU HURRICANE FANS [E_IWOOD SCREW PENETRATION AND CONCRETE _STRENGIH TCR | 1GB [2/27/17 Manufacturing Corp.
VAT L 1820 N. York Street
DRAFTER TCR DATE 2/9/
Muskogee, OK 74403

RELEASED

WATCR 12/8/15

gYHKD MFG. SCALE N —l— S

918—6382—7791




Large Missile Impact Resistant

Max rated design pressure

+53.0 / —112.0 PSF

C
E
H
— E
: &
o .0 o o o o 1
Fan to Roof curb Curb
connection A B Height
- - 1/4" sheet metal screws A .
Plan V|eW- Insta"at|on on minimum 6" centers _/ 1 Curb Width ‘
General Notes: Y vwraars e
1. Product evaluated in accordance with %"/ %
requirements of 2006 International Building Z . G
Code and ASCE 7-05. - l
. . Elevation View — Installation Dimensions (inches
2. Roof structure must be designed for weight of ( )
unit and wind load reactions transferred from the
unit.
3. Product evaluated for the structural capacity
of the_ exterior housmg only. Interior Fastener Count Fan Dimensions (inches) Curb Dimensions Fan + Curb
mechanisms and/or electrical components have Model A B C D E F G H |Curb Width[Curb Height] Curb Material |Weight (Ibs)
not been evaluated. PDUO80 8 13.50 | 13.06 |20.63 |12.84 [2.00 [21.50 |56.41 | 13.20 8 to 42 |18 ga. G90 galv| 25
PDU100 8 13.50 |16.10 |20.63 |12.84 |2.00 [21.50 [56.41 | 13.20 8 to 42 [18 ga. G90 galv. 33
4., All fasteners must be corrosion resistant. PDU110 8 13.50[16.41 |20.63[12.84 |2.00 |21.50 |56.41 13.20 8 to 42 (18 ga. G990 galv. 33
e e PDU120 12 19.00119.48 [26.41 |16.59 [2.00 |27.00 | 60.87 18.70 8 to 42 [18 ga. G90 galv. 55
Joseph A. Reed, PE PDU135 12 19.00 | 20.87 |26.41 [16.59 [2.00 [27.00 |60.87 | 18.70 8 to 42 [18 ga. G90 galv. 55
- TX PE 100777 PDU150 PDU165 12 24.00 |123.89 [30.16 [21.92 |2.00 |32.00 |63.89 | 23.70 8 to 42 |18 ga. G0 galv. 83
Architectural Testing, Inc. PDU185 PDU200 16 28.00 |25.75 |34.65 121.99 [2.00 |36.00 [65.75 27.70 8 to 42 [18 ga. G90 galv. 103
TX Firm F-11869 PNUO80O _ |PNU100 12 24.00 |26.35 [33.66 |22.13 |2.00 |32.00 [67.37 | 23.70 8 to 42 [18 ga. G90 galv. 111
130 Derry Ct. PNU120  |[PNU135 12 24.00 [27.37 |33.66 |22.13 [2.00 |32.00 |67.37 | 23.70 8 to 42 18 ga. G90 galv| 111
York PA 17404 PNU150 PNU155 PNU160 | PNU185 16 28.00 [26.92 [38.00 |24.14 |2.00 | 36.00 |65.92 27.70 8 to 42 |18 ga. G90 galv. 152
717-764-7700 PNU185 | PNU200 16 28.00 |31.56 |39.75 [28.73 |2.00 |36.00 |71.56 | 27.70 8 to 42 |18 ga. G90 galv 205
N ) . PNU235 PNU240 PNU245 20 34.00 | 36.25 |44.75[31.50 |2.00 [42.00[76.25 | 33.70 8 to 42 |18 ga. GO0 qalv, 232
Project No.: E8434.02-122-34 [PnU290”TPNU295 " [PNU300 24 40.00 | 42.50 |55.29 |34.25 |2.00 |48.00 |82.50 | 39.70 | 8 to 42 |18 ga. G90 galv| 442
DWG NO. 6 8 6 7 5 9 Sh LET. REVISION RECORD BY CKD. DATE . .
eet 2/11
m— B UPDATED AND MERGED PNU NOMENCLATURE  4/8/11 BPF BPF TCR 4/8/11 Acme Eﬂg neert ﬂg &
PDU_PNU HUR_\)ICANE FANS c REVISED FOR FLORIDA BUILDING CODE 2010 BPF TCR 7/3/12 MC] N UfGCtU I’iﬂg Corp
YINKE D REVISED FOR 2014 FBC TCR TGB 5/28/15 )
e —— E REVISED FOR TALL CURBS ZPO 6B 9/14/15 1820 N. York Street
TCF\) 05/19/10 F ADDED SHEETS 1 & 7 — 11 FOR WALL MOUNT TCR TGB 12/14/15 OK 74403
DESIG TCR 05719 /]0 REEASED G |WOOD SCREW PENETRATION AND CONCRETE STRENGTH TCR T6B | 2/27/17 Mus kog ee,
ENG.
CHKD MFG.” SCALE 918—682—7791
By NT S




Item #|Qty.| ltem Size 80 100 110 120 135
1 1 |Motor Enclosure Cover .050" aluminum .050" aluminum .050" aluminum .050” aluminum .050" aluminum
% 1 Dis;:horge Guard .125" galv. wire .125" galv. wire .125”" qalv. wire .125" galv. wire .125" galv. wire
1 [Motor
4 1 [Motor Enclosure 20 ga. G90 galv. 20 ga. GS0 galv. 20 ga. G90 galv. 20 ga. GS0O galv. 20 ga. G90 galv.
S 1 Breather Tube .065" wall aluminum .065" wall aluminum .065" wall aluminum .065” wall aluminum .065" wall aluminum
6 1 |Wiring Post
7A | 1 |Upper Windband .080" aluminum .080" aluminum .080" aluminum .080" aluminum .080" aluminum
7B | 1 |Middle Windband .080" aluminum .080" aluminum
7C 1 Middle Windband
7D | 1 |Lower Windband .080" aluminum .080” aluminum .080" aluminum .080" aluminum .080" aluminum
8 1 |Breather Tube Cover
9 1 |Disconnect Switch
10 S [Support Bracket 14 ga. G90 galv. 14 ga. G90 galv. 14 ga. G90 galv. 14 ga. G90 galv. 14 ga. G90 galv.
11 1 |Motor Enclosure Base 16 ga. GSO galv. 16 ga. GSO galv. 16 ga. GSO galv. 16 ga. G90 galv. 16 ga. G90 galv.
12 1 |Impeller
13 | A[1/4"-20 Nuts and Bolts| 6 bolts per flange union |6 bolts per flange union|6 bolts per flange union| 6 bolts per flange union|6 bolts per flange union
14 A [1/4"—20 Nuts and Bolts| 4 bolts per flange union |4 bolts per flange union|4 boits per flange union|4 bolts per flange union|4 bolts per flange union
ltem #|Qty. ltem Size 150 165 185 200
1 1 [Motor Enclosure Cover .050” aluminum .050”" aluminum .050” aluminum .050”" aluminum
2 1 |Discharge Guard .125" galv. wire .125" galv. wire 125" galv. wire 125" galv. wire
3 1 _[Motor
4 1 |Motor Enclosure 20 ga. G90 galv. 20 ga. G990 gqalv. 20 ga. G90 galv. 20 ga. G990 galv.
5 1 Breather Tube .065” wall aluminum .065" wall aluminum 065" wall aluminum .065" wall aluminum
6 1 |Wiring Post
7A 1 |Upper Windband .080” aluminum .080”" aluminum .080” aluminum .080" aluminum
7B 1 |Middle Windband .080" aluminum .080" aluminum .080" aluminum .080" aluminum
7C 1 [Middle Windband
7D 1 |Lower Windband .080" aluminum .080” aluminum .080" aluminum .080" aluminum
8 1 |Breather Tube Cover .063” aluminum .063” aluminum .063” aluminum .063" aluminum
9 1 [Disconnect Switch
10 3 [Support Bracket 14 ga. G90 galv. 14 ga. G390 galv. 14 ga. G90 galv. 14 ga. G90 galv.
11 1 |Motor Enclosure Base 16 ga. G90 galv. 16 ga. G90 galv. 16 ga. G90 galv. 16 ga. G90 galv.
12 1 [Impeller
13 | A 1/4"°—20 Nuts and Bolts| 7 bolts per flange union |7 boits per flange union|7 bolts per flange union|7 bolts per flange union
14 | A[1/4"-20 Nuts and Bolts| 5 bolts per flange union |5 bolts per flange union|5 bolts per filange union|5 bolts per flange union
* Steel material gages shown are nominal.

Aluminum thicknesses shown are nominal.

Actual th
with indu

icknesses will vary in accordance
stry standard tolerances.

P L

Joseph A. Reed, PE
TX PE 100777

TX Firm F-11869
130 Derry Ct.
York, PA 17404
717-764-7700

Architectural Testing, Inc.

Project No.: E8434.02-122-34

FPDUOZO

10

11

12

PDU200 Fans

DWG NO. LET. REVISION RECORD BY CKD. | DATE ) .

—- 686 /759|Sheet 3/11 A |REVISED FOR FLORIDA BUILDING CODE 2070 BFF | TcR I773/12 Acme Eng'ﬁeermg &
PDU_PNU HUR_\)ICANE FANS 2 E!EDV'ILSEL?SE?DR >014 FBC TCR 68 |5/28/15 Manufacturing Corp.
g:;;rm CR — 05/19/10/10 D INOT USED _ 1820 N. York Street
E |REVISED FOR 427 HIGH CURBS 7F0 TR [0/14/15
O TOR 05719/10 RO F_|ADDED SHEETS 1 & 7 — 11 FOR WALL MOUNT | ICR ToB__|12/14/15 Muskogee, OK 74403

EY,TKGD' e E S NS C_|WOOD SCREW PENETRATION AND CONCRETE STRENGTH TCR | TGB [2/27/17 918—682—7791




ltem# |Qty.| Item Size 80, 100 120 135 150
1 1 |Motor Enclosure Cover .050” aluminum .050" aluminum .050" aluminum .050” aluminum
2 1 |Discharge Guard 1257 galv. wire .125" qgalv. wire 125" galv. wire 125" galv. wire
3 1 |Drive Base 12 ga. G90 galv. 12 ga. G90 galv. 12 ga. G390 galv. 12 ga. G90 galv.
4 1 |Drive Brace 14 ga. G90 galv. 14 ga. G90 galv. 14 ga. G90 galv. 14 ga. G90 gaiv.
5 1 |Motor
6 1 |Shaft & Bearing Assembly
7 1 |Motor Enclosure 22 ga. G90 galv. 22 ga. G90 galv. 22 ga. G90 gaiv. 22 ga. G90 gaiv.
8 4 |Support Bracket 14 ga. G90 galv. 14 ga. G390 galv. 14 ga. G800 galv. 14 ga. G90 galv.
9 2 |Bearing Cap 14 ga. G90 gaiv. T4 ga. GY90 gaiv. 14 ga. G890 galv. 14 ga. G90 galv.
10 | 1 |Breather Tube .065” wall _aluminum .065” wall aluminum .065" wall aluminum .065" wall aluminum
11 1 |Wiring Post
12 1 [Impeller
13 A| 1 |Upper Windband .080" aluminum .080" aluminum .080” aluminum .080" aluminum
13 B| 1 [Middle Windband .080” aluminum .080" aluminum .080" aluminum .080" aluminum
13 C| 1 |[Middle Windband .080" aluminum
13 D| 1 |Lower Windband .080" aluminum .080" aluminum .080" aluminum .080" aluminum
14 | 1 |Breather Tube Cover .063" aluminum .063”" aluminum .063” aluminum .063" aluminum
15 1 |Disconnect Switch
16 | 1 |Base Bracket 12 ga. GSO galv. 12 ga. G90 galv. 12 ga. G90 galv. 12 ga. G90 galv.
17 | A 11/4"— 20 Nuts and Bolts|[7 bolts per flange union|7 bolts per flange union|7 bolts per flange union|7 bolts per flange union
18 | A [1/4"— 20 Nuts and Bolts|S bolts per flange union|5 bolts per flange union|5 bolts per flange union|5 bolts per flange union
item# |Qty.| ltem Size 155, 160, 165 185 200
1 1 |Motor Enclosure Cover .050” aluminum 050" aluminum .050" aluminum
2 1 _|Discharge Guard .125™ galv. wire .125" galv. wire .125" galv. wire
3 1 |Drive Base 12 ga. G90 galv. 12 ga. G90 galv. 12 ga. G90 galv.
4 1 |Drive Brace 14 ga. G90 qgalv. 14 ga. G90 galv. 14 ga. G90 gaiv.
S5 1 |Motor
6 1 |Shaft & Bearing Assembly
7 1 |Motor Enclosure 22 ga. G90 galv. 20 ga. G90 qaiv. 20 ga. GO0 galv.
8 4 |Support Bracket 14 ga. G390 galv. T4 ga. G90 gaiv. 14 ga. G390 galv.
9 2 |Bearing Cap 14 ga. GO0 galv. 10 ga. G90 galv. 10 ga. G390 galv.
10 1 |Breather Tube .065” wall aluminum .065” wall aluminum .065”" wall aluminum
11 1 |Wiring Post
12 | 1 |Impeller
13 A| 1 |Upper Windband .080” aluminum .080" aluminum .080" aluminum
13 B| 1 [Middie Windband .080" aluminum .080" aluminum .080" aluminum
13 C| 1 |Middle Windband .080" aluminum .080" aluminum .080" aluminum
13 D| 1 |Lower Windband .080" aluminum .080" aluminum .080" aluminum
14 | 1 |Breather Tube Cover .063” aluminum .063"” aluminum .063” aluminum
15 1 |Disconnect Switch
16 1 |Base Bracket 12 ga. G90 galv. 12 ga. G900 galv. 12 ga. G90 galv.
17 | A [1/4"— 20 Nuts and Bolts|7 bolts per flange union|7 bolts per flange union|7 bolts per flange union
18 | A [1/4"— 20 Nuts and Bolts|5 bolts per flange union|5 bolts per flange union[5 bolts per flange union

* Steel material gages shown are nominal.
Aluminum thicknesses shown_are nominal.
Actual thicknesses will vary in accordance

with industry standard tolerances.

TX PE 100777

TX Firm F-11869
130 Derry Ct.
York, PA 17404
717-764-7700

Joseph A. Reed, PE

Architectural Testing, Inc.

PNUXPO30

PNU245 Fans

14

R,

" e86759

Sheet 4/11

" PDU-PNU_HURRICANE

MAT L

DRAFTER TC |_—\)

e 05/19/10/10

SETCR 05/19/10

RELEASED

Project No.: E8434.02-122-34

LET. REVISION REC_ORD BY CKD. DATE
A_|UPDATED AND MERGED PNU NOMENCLATURE BPE| TCR [#/8/T]

FANS  [BZIREMOVED DUPLICATE DATA FOR PNU245 BPF| TCR [¢/3/T1
C | REVISED FOR FLORIDA BUILDING CODE 2010 BPE| TCR [7/5/12
D |REVISED FOR 2014 FBC TCR| TGB [5/28/75
E_[REVISED FOR 42" HIGH CURBS —_ TCR| 1GB|e/14/15
F_ADDED SHEETS 1 & /7 — 11 FOR WALL MOUNI TCR| TCB|i2/14/15
GC_|WOOD SCREW PENETRATION AND CONCRETE STRENGIH TCR | TGB [2/27/17

CHKD
BY

MFG.”

SCALE N —I— S

Acme Engineering &
Manufacturing Corp.
1820 N. York Street
Muskogee, OK /4405
918—6832—/7791




ltem# |Qty.| ltem Size 235, 240, 245 290, 295, 300
1 1 |Motor Enclosure Cover .050" aluminum .050" aluminum
2 1 |Discharge Guard 1257 galv. wire 1777 galv. wire
3 1 |Drive Base 12 ga. G90 galv. 10 ga. G90 galv.
4 1 | Motor
5 1 |Breather Tube 065" wall aluminum | .065” wall aluminum
6 1 |Motor Enclosure Support 14 ga. G90 galv. 12 ga. G90 qalv.
7 1 |Motor Enclosure 20 ga. G90 galv. 20 ga. G90 qgalv.
8 1 |Motor Enclosure Base 20 ga. G90 galv. 16 ga. G90 galv.
9 1 |Impeller
10 | 8 |Support Channel 14 ga. G90 galv. 12 ga. GO0 galv.
11 | 2 |Corner Support 063" aluminum
12 | 1 |Breather Tube Cover .063" aluminum 063" aluminum

13 A| 1 |Upper Windband Assembly .080” aluminum .080" aluminum

13 B| 1 |Middle Windband Assembly .080” aluminum .080” aluminum

13 C| 1 |Middle Windband Assembly .080" aluminum .080" aluminum

13 D| 1 |Lower Windband Assembly .080” aluminum .080" aluminum
14 1 |Drive Base 12 ga. G90 galv. 10 ga. G90 galv.
15 1 |Shaft & Bearing Assembly
16 | 2 |Bearing Cap 10 ga. G90 galv. 10 ga. G90 qgalv.
17 |24[1/4" — 20 Bolts & Nuts 8 per flange union | 8 per flange union
18 | 6 [1/4” — 20 Bolts & Nuts| 6 per flange union | 6 per flange union

* Steel material gages shown are nominal.
Aluminum thicknesses shown are nominal.
Actual thicknesses will vary in accordance
with industry standard tolerances.

3 '.. 3 N
gt g
- O SN
R BN L S
| /%\-.,_{,‘\‘,-5 NEERSY
et Preeate ) '.;u‘

N (1

D PR
-~ o J’\)I\.I. L A )

“3/7; /7

Joseph A. Reed, PE

TX PE 100777
Architectural Testing, Inc.
TX Firm F-11869

130 Derry Ct.

York, PA 17404

717-764-7700
Project No.: E8434.02-122-34

PNU235

— PNUJ30OO Fans

DWG NO. LET. REVISION RECORD BY CKD. DATE . .
—— 686 /59|Sheet 5/ N S UPDATED AND WERGED. PNU_ NOMENCIATIRE BPF | TCR [aza/t Acme Engineering &
POU-PNU HURRICANE FANS  [CIREVIS LORIDA BUILDING CODE 2010 BPF|_ICR[7/6/12 Manufacturing Corp.

MATL D | REVISEDFOR 2014 FBC TCR| TGB |[5/28/15 9

—— —— E_|REVISED FOR 42" HIGH CURBS TCR| TGB [o/14/15 1820 N. York Street
TCR 05/19/10/10 F_[ADDED SHEETS 1 & 7/ — 11 FOR _WALL MOUNT TCR|_1GB |12/14/15 Muskogee. OK 74403

OESGN i GC_|WOOD SCREW PENEIRATION AND_CONCREIE_SIRENGIH TCR| TGB|2/27/17 gee,

enc. [OR 09/19/10 918—682—//91

(B:YHKD MFG." SCALE N —I— S




Large Missile Impact Resistant
Max rated design pressure :

+53.0 / —112.0 PSF

4.00"
Mounting
Flange

/

-——I

/#14 wood Screws
2" from corner & maximum
4” 0.C. through plywood
and into wood framing
Min. 1%” penetration

®

5/8" plywood roof decking

Roof

Wood Timber

Min. 4” Thickness

Min G = 0.42

Plan View

Wood Deck Installation

Curb

Elevation View

Minimum 12 Ga. Steel

Y. 7 Self—drilling Screws
2” from corner & maximum
8” 0.C. through roof deck

Minimum 18 gage
Roof Deck

Plan View Elevation View

Metal Building Installation

4.00” .,
Mounting == =~ M:Lﬁ?ing L=
Flange il
I — g _
? [ Il 2
Minimum Concrete
Roof Truss Strength 2500PSI

%" Hilti Kwik Bolt 3 expansion
anchors or equivalent into concrete
2" from corner & Maximum 8” O.C.
2" minimum embedment

Plan View Elevation View

Concrete Deck Installation

Mounting Flange Dimensions Installation Type / Bolt Count
Model Wood Deck | Metal Building| Concrete Deck
PDUO80D 21.5" x 21.5" 24 16 16
e, PDU100 21.5" x 21.5" 24 16 16
WARERLTE PDU110 215" x 21.5° 24 16 16
B PDU120 27" x 277 28 16 16
: PDU135 27" x 27" 28 16 16
Joseph A. Reed, PE PDU150 PDU165 32" x 327 32 20 20
TX PE 100777 PDU185  |PDU200 36" x 36" 36 20 20
Architectural Testing, Inc. PNUOB0O  |PNU100 32" x 327 36 20 20
TX Firm F-11869 PNU120  |PNU135 32" x 327 36 20 20
;/'7 130 Derry Ct. PNU150 |PNU155  |[PNU160 | PNU165 36" x 36 40 20 20
York, PA 17404 PNU185  [PNU200 36" x 36 44 20 20
717-764-7700 PNU235  |PNU240  |PNU245 42" x 42" 56 24 24
Project No.: E8434.02-122-34 PNU290  [PNU295  [PNU300 48" x 48" 72 32 24
DWG NO. LET. REVISION RECORD BY CKD. | DATE ) ,
TTLEPDEG865N%9HSh'eet 6F/1 1 A CHANGED FRAME SIZE TO 4 X 4 TCRT__Tio/7/ts Acme Engineering &
— B_|UPDATED AND MERGED PNU NOMENCLATURE BPF CR |4/8/11 :
e urnedne OHS_S REVISED FOR FLORIDA BUILDING CODE 2010 BEETTCR /312 yg;ngNCtuYrmE gfrp.t
REVISED 014 FBC 1GB |5/28/15 . or ree
TR TCR ™ 04/12/10 E [ REVISED FOR 42 HIGH CURBS TCR | TGB lo/14/15 0 403
SOTCR /10— F |ADDED SHEETS 1 & 7 — 11 FOR WALL MOUNT TCR | T0B [12714715| Muskogee, OK 74
EFKD' e Tscns T = G | WOOD SCREW PENETRATION AND CONCRETE STRENGTH 1ICR | TGB |2/27/17 IM18—-682—7791




Large Missile Impact Resistant
Max rated design pressure : +53.0 /

—112.0 PSF

MAT L

DRAFTER TC F\)

1979715

DESIGN
ENG.

TCR 12/9/15

RELEASED

CHKD
BY

MFG.

SCALE N —I_ S

1820 N. York Street
Muskogee, OK 74403
918—-682—7/791

D o B G
o]
Plan View - Installation E -

General Notes:
1. Product evaluated in accordance with C
requirements of 2006 International Building
Code and ASCE 7-05. H -
2. Roof structure must be designed for weight of Dimensions (inches)
unit and wind load reactions transferred from the
unit.
3. Product evaluated for the structural capacity
of the exterior housing only. Interior Fastener Count Fan Dimensions (inches) :
mechanisms and/or electrical components have s Model g\ 13%0 13031 20D63 12E84 2';5 21G50 56H66 Wez'%ht
nepBesn Cyluated: PDU100 8 13.50 | 16.35 |20.63 |12.84 | 2.25 [21.50 |56.66 | 33

All§ . : PDU110 8 13.50 [ 16.66 | 20.63 | 12.84 |2.25 | 21.50 | 56.66 33
4. All fasteners must be corrosion resistant. PDU120 12 19.00 | 19.73 |26.41 |16.59 | 2.25 [27.00 |61.12 | _ 55
Joseph A. Reed, PE PDU135 12 19.00 [21.12 [26.41 [16.59 [2.25 [27.00 [61.12 55
-TX PE 100777 PDU150 _ |PDU165 12 24.00 [24.14 |30.16 [21.92 [2.25 |32.00 | 64.14 | 83
Architectural Testing, Inc. PDU185 | PDU200 16 28.00 [26.00 | 34.65 [21.99 |2.25 | 36.00 |66.00 | 103
TX Firm F-11869 PNUOSO  |PNU100 12 24.00 |26.60 |33.66 [22.13 |2.25 | 32.00 |67.60 | 111
130 Derry Ct. PNU120  |PNU135 12 24.00 |27.62 |33.66 |22.13 |2.25 |32.00 |67.60 | 111
York. PA 17404 PNU150 |PNU155  |PNU160 | PNU165 16 28.00 [27.17 | 38.00 |24.14 [2.25 |36.00 |66.17 | 152

: PNU185 |PNU200 16 28.00 |31.81 |39.75 |28.73 | 2.25 | 36.00 | 71.81 | 205
717-764-7700 PNU235 |PNU240 | PNU245 20 |34.00 | 36.50 |44.75 |31.50 |2.25 |42.00 | 76.50 | 232
Project No.: E8434.02-122-34 PNU290  [PNU295 | PNU300 24 40.00 [42.75 |55.29 | 34.25 [2.25 [48.00 |82.75 | 442
we No. 3237 59|Sheet 7/1 7 [LET. REVISION RECORD BY CKD. DATE A Eng: . 8
— F_| ADDED SHEETS 1 & 7 — 11 FOR WALL MOUNT ICR | T1GB |12/14/19 cme Lngineering
POU-PNU WALL MOUNT HURRICANE FANS[Cc—wooD SCREW PENETRATION AND CONCRETE STRENGTH TCR | TGB [2/27/17 Manufacturing Corp.




Item # | ltem Size 80 100 110 120 135
1 Motor Enclosure Cover .050” aluminum .050” aluminum .050" aluminum .050” aluminum .050" aluminum
2 Discharge Guard .125" galv. wire .125" qalv. wire .125" qgalv. wire .125" galv. wire .125" qgalv. wire
S5 Motor
4 Motor Enclosure 20 ga. G900 galv. 20 ga. G90 galv. 20 ga. G90 galv. 20 ga. G90 galv. 20 ga. G990 galv.
5 Breather Tube .065" wall aluminum .065” wall aluminum .065" wall aluminum .065” wall aluminum .065"” wall aluminum 14
6 Wiring Post
7A Upper Windband .080" aluminum .080" aluminum .080" aluminum .080" aluminum .080" aluminum 1
7B Middle Windband .080" aluminum .080" aluminum
7C Middle Windband
Lower Windband .080" aluminum .080” aluminum .080" aluminum .080" aluminum .080" aluminum 2

Breather Tube Cover

Disconnect Switch
Support Bracket 14 ga. G90 galv. 14 ga. G90 galv. 14 ga. G90 galv. 14 ga. G90 galv. 14 ga. G90 galv.
Motor Enclosure Base 16 ga. G390 galv. 16 ga. G90 galv. 16 ga. GY90 galv. 16 ga. G390 galv. 16 ga. G900 galv.

~
o
—_ —_ —_ Q

12 impeller

13 1/4"—20 Nuts and Bolts| 6 bolts per flange union [6 bolts per flange union|6 bolts per flange union| 6 bolts per flange union|6 bolts per flange union

14 1/4"—20 Nuts and Bolts| 4 bolts per flange union [4 bolts per flange union|4 bolts per flange union[4 bolts per flange union|4 bolts per flange union

15 Wall Adapter Flange 14 ga. G90 galv. 14 ga. G90 qalv. 14 ga. GSO galv. 14 ga. G90 qgalv. 14 ga. G90 galv.
ltem #|Qty.| Iltem Size 150 165 185 200

1 1 |Motor Enclosure Cover .050" aluminum .050” aluminum .050" aluminum .050” aluminum

% 1 IhDAistchorge Guard 125" galv. wire .125" galv. wire 125" galv. wire 125" galv. wire

otor

4 1 [Motor Enclosure 20 ga. G90 galv. 20 ga. GY0 galv. 20 ga. G990 galv. 20 ga. G90 galv.

5 1 Breather Tube .065” wall aluminum .065” wall aluminum .065" wall aluminum .065" wall aluminum

6 1 |Wiring Post

7A 1 |Upper Windband .080” aluminum .080" aluminum .080”" aluminum .080" aluminum

7B | 1 |Middle Windband .080” aluminum .080" aluminum .080" aluminum .080" aluminum

7C 1 |Middle Windband

7D 1 |Lower Windband .080" aluminum .080" aluminum .080" aluminum .080" aluminum

8 1 |Breather Tube Cover .063" aluminum .063" aluminum .063” aluminum .063" aluminum

9 1 |Disconnect Switch

10 3 |Support Bracket 14 ga. G90 galv. 14 ga. G90 galv. 14 ga. G90 galv. 14 ga. G90 galv.

11 1 [Motor Enclosure Base 16 ga. G90 gaiv. 16 ga. G90 galv. 16 ga. G990 galv. 16 ga. G390 galv.

12 1 [Impeller

13 A 1/4"—20 Nuts and Bolts| 7 bolts per flange union |7 bolts per flange union|7 bolts per flange union|/ bolts per flange union

14 | A 1/4"-20 Nuts and Bolts| 5 bolts per flange union |5 bolts per flange union|5 bolts per flange union|5 bolts per flange union

15 1 |Wall Adapter Flange 14 ga. G90 galv. 14 ga. G90 qalv. 14 ga. G990 qalv. 14 ga. G90 galv.

* Steel material gages shown are nominal.
Aluminum thicknesses shown are nominal. 7

Actual thicknesses will vary in accordance
S FrTis, 5 N
1 o with industry standard tolerances.

Wi OF To o=

\“i‘l‘;}? r?:’
Nl Vx: ¢ Joseph A. Reed, PE
’ . TX PE 100777
Pt 100777  Ba N Architectural Testing, Inc.
‘:__"f-g;-,;,.,,_-,r : %@‘_.v-\;{:}ga‘ TX Firm F-11869
=88 :T--,'L»'Z';N"L"r;%f-f\',.=*‘ 130 Derry Ct.
e A York, PA 17404
715 P PDUOSO — PDU200 Fans
Project No.: E8434.02-122-34
DWG NOC. LET. REVISION RECORD BY CKD. DATE . .
686 /59heet 8/ 1 s roR WA OO TR | ToB [o/ieiy  /\°Meé Engineering &
POU-PNU WALL MOUNT HURRICANE FANS [FGZI-¥OOD_SCREW_PENETRATION AND CONCRETE STRENGTH TCR | TGB |2/27/17 Manufacturing Corp.

VAT 1820 N. York Street

TR TCR [ 1) /9/15 Muskogee, OK 74403

DESIGN y RELEASED
R e e 918-682—779"




1 ~ =
.If' <= OF TE" N

100777
2 :("-‘!"."’-— NS EN

or‘ Trisne
N
3P

< _-"._;f,- N

SO,
7>

TX PE 100777

TX Firm F-11869
130 Derry Ct.
York, PA 17404
717-764-7700

Joseph A. Reed, PE

Architectural Testing, Inc.

Project No.: E8434.02-122-34

PNUOBO

Item# |Qty.| Item ~ Size 80, 100 120 135 150
1 1 |Motor Enclosure Cover .050" aluminum .050" aluminum .050" aluminum .050" aluminum
2 1 |Discharge Guard 125" galv. wire .125" qgalv. wire .125” galv. wire .125" qalv. wire
3 1 |Drive Base 12 ga. G90 galv. 12 ga. G90 galv. 12 ga. G90 qaiv. 12 ga. G90 galv.
4 1 |Drive Brace 14 ga. G90 gaiv. 14 ga. G90 galv. 14 ga. G900 qalv. 14 ga. GSO galv.
5 1 |Motor
6 1 |Shaft & Bearing Assembly
7 1 _|Motor Enclosure 22 ga. G90 galv. 22 ga. GS0 galv. 2Z ga. G90 gaiv. 22 ga. GS0 gaiv.
8 4 |Support Bracket 14 ga. G90 galv. 14 ga. G90 qalv. 14 ga. G90 galv. 14 ga. G90 galv.
9 2 |Bearing Cap 14 ga. G90 galv. 14 ga. G90 gaiv. 14 ga. G90 galv. 14 ga. G900 galv.
10 | 1 |Breather Tube .065" wall aluminum .065" wall aluminum .065" wall aluminum .065" wall aluminum
11 1_|Wiring Post
12 | 1 |Impeller
13 A| 1 |Upper Windband .080" aluminum .080" aluminum .080" aluminum .080" aluminum
13 B| 1 |Middle Windband .080" aluminum .080” aluminum .080" aluminum .080" aluminum
13 C| 1 |Middle Windband .080” aluminum
13 D| 1 |Lower Windband .080" aluminum .080" aluminum .080" aluminum .080" aluminum
14 | 1 [Breather Tube Cover .063" aluminum .063” aluminum 063" aluminum .063" aluminum
15 1 |Disconnect Switch
16 | 1 |Base Bracket 12 ga. G990 galv. 12 ga. G90 galv. 12 ga. G90 galv. 12 ga. G90 galv.
17 [ A ]1/4— 20 Nuts and Bolts |7 bolts per flange union|7 bolts per flange union| 7 bolts per flange union|7 bolts per flange union
18 | A |1/4"— 20 Nuts and Bolts[S bolts per flange union[5 bolts per flange union|5 bolts per flange union|5 bolts per flange union
19 1 |Wall Adapter Flange 14 ga. G90 galv. 14 ga. G90 gaiv. 14 ga. G90 galv. 14 ga. G90 galv.
ltem# [Qty | tem Size 155, 160, 165 185 200
1 1 |Motor Enclosure Cover .050" aluminum .050" aluminum .050” aluminum
2 1 _|Discharge Guard .1257 galv. wire .125" qalv. wire -125"7 galv. wire
3 1 |Drive Base 12 ga. G90 galv. 12 ga. G90 galv. 12 ga. GS0O galv.
4 1 |Drive Brace 14 ga. G90 galv. 14 ga. G90 galv. 14 ga. G90 galv.
5 1 |Motor
6 1 |Shaft & Bearing Assembly
7 1 |Motor Enclosure 22 ga. G90 galv. 20 ga. G90 galv. 20 ga. G390 galv.
8 4 |Support Bracket 14 ga. G90 galv. 14 ga. G90 galv. 14 ga. G90 galv.
9 2 |[Bearing Cap 14 ga. G90 galv. 10 ga. G900 galv. 10 ga. G900 galv.
10 | 1 |Breather Tube .065" wall aluminum .065" wall _aluminum .065" wall aluminum
11 1 |Wiring Post
12 1 |Impeller
13 A| 1 |Upper Windband .080" aluminum .080" aluminum .080" gluminum
13 B| 1 [Middle Windband .080” aluminum .080”" aluminum .080" aluminum
13 C| 1 [Middle Windband .080" aluminum .080" aluminum .080" aluminum
13 D| 1 [Lower Windband .080" aluminum .080”" aluminum .080" aluminum
14 | 1 |Breather Tube Cover .063” aluminum .063" aluminum .063" aluminum
15 1 |Disconnect Switch
16 | 1 |Base Bracket 12 ga. G90 galv. 12 ga. G90 galv. 12 ga. GY0 galv.
17 | A [1/4"— 20 Nuts and Bolts|7 bolts per flange union|7 bolts per flange union|7 bolts per flange union
18 | A [1/4"= 20 Nuts and Bolts|5 bolts per flange union|5 bolts per flange union|5 bolts per flange union
19 1 |Wall Adapter, Flange 14 ga. G30 galv. 14 ga. G90 galv. 14 ga. G390 qalv.
L T

* Steel material gages shown are nominal.
Aluminum thicknesses shown_are nominal.
Actual thicknesses will vary in accordance
with industry standard tolerances.

(9

PNU245 Fans

P Be86/59

Sheet 9/11

" PDU-PNU WALL MOUNTHURRICANE. FANS |

LET. REVISION RECORD BY CKD. L DATE
F1ADDED SHEEIS 1 & / — 11 FOR WALL MOUNT TCR | TGB [12/14/15
WOOD SCREW PENETRATION AND CONCRETE STRENGTH TCR| TGB |2/27/17

MAT'L

DRAFTER ‘I‘C F\)

Ene: TCR 12/9/15

" 1779715

RELEASED

CHKD
BY

MFG.

SCALE N —’_ S

Acme Engineering &
Manufacturing Corp.
1820 N. York Street
Muskogee, OK 74403
918—682—/7791




ltem# [Qty.| Item Size 235, 240, 245 290, 295, 300

1 1 |Motor Enclosure Cover 050" aluminum .050” aluminum :
2 1 |Discharge Guard 1257 galv. wire 1777 galv. wire O

5] 1 |Drive Base 12 ga. G90 galv. 10 ga. G90 galv.

4 1 |Motor 2
5 1 |Breather Tube .065” wall aluminum | .065” wall aluminum

6 1 |Motor Enclosure Support 14 ga. G90 galv. 12 ga. G90 galv.

9 1 [Motor Enclosure 20 ga. GY0 galv. 20 ga. G90 galv. s - /@
8 1 |Motor Enclosure Base 20 ga. G90 galv. 16 ga. G90 galv. i [

9 1 |Impeller 14

10 | 8 |Support Channel 14 ga. G90 galv. 12 ga. G90 galv.

11 2 |Corner Support .063” aluminum

12 | 1 |Breather Tube Cover .063” aluminum 063" aluminum
13 A| 1 |Upper Windband Assembly .080” aluminum .080" aluminum
13 B| 1 |[Middle Windband Assembly .080” aluminum .080” aluminum
13 C| 1 |Middle Windband Assembly .080" aluminum .080" aluminum
13 D| 1 |Lower Windband Assembly .080” aluminum .080” aluminum

14 1 [Drive Base 12 ga. G90 galv. 10 ga. G90 galv.

15 1 |Shaft & Bearing Assembly

16 | 2 |Bearing Cap 10 ga. G90 galv. 10 ga. G90 galv.

17 [24[1/4" — 20 Bolts & Nuts | 8 per flange union | 8 per flange union

18 | 6 [1/4” — 20 Bolts & Nuts| 6 per flange union | 6 per flange union

19 1 [Wall Adapter Flange 14 ga. G90 galv. 14 ga. G90 galv.

* Steel material gages shown are nominal.

Aol s amnn; Shown, are nominal,
with industry standard tolerances.
| —)
2 @<~ 2
B
Joseph A. Reed, PE =T
TX PE 100777 L =T
Architectural Testing, Inc. )
TX Firm F-11869 = 3
130 Derry Ct. D
York, PA 17404 )
717-764-7700 PNU235 — PNU300 Fans
Project No.: E8434.02-122-34
DWG NO. LET. REVISION RECORD BY CKD. | DATE . .
__ 686 /59|Sheet 10/1 litommy—rrre—— 7 — 11 FOR WALL _MOUNT TCR | T0B 12/14/78 Acme Engineering &
POU-PNU WALL MOUNT HURRICANE FANS (] WOOD _SCREW PENETRATION AND CONCREIE SIRENGTH TCR | TGB p/27/17 Manufacturing Corp.
E:;r:rER TCF\) DATE ]2/9/15 1820 N. York Street
DESIGN TCR 12/9/15 RELEASED Muskogee, OK 744035
VTR e o 918—-682—-7791
BY ' N T S




Large Missile Impact Resistant

Max rated design pressure

+53.0 / —112.0 PSF

5/8" plywood sheathing

#14 wood Screws

2" from corner & maximum
4" 0.C. through plywood
and into wood framing

Min. 1)5” penetration

Plan View

Wood Timber

Min. 4” Thickness
Min G = 0.42

Elevation View

Wood Wall Installation

/

/{; " Self—drilling Screws

2" from corner & maximum
8" 0.C. through roof deck

Plan View

Minimum 18 Ga. Framing

Elevation View

Metal Wall Installation

Minimum Concrete
Strength 2500PSI

\ % Hilti Kwik Bolt 3 expansion

anchors or equivalent into concrete
2" from corner & Maximum 8" 0.C.

2" minimum embedment

Plan View Elevation View

Concrete Wall Installation

Mounting Flange Dimensions Installation Type / Bolt Count
Model Wood Deck | Metal Building| Concrete Deck

— PDUOSO 21.5" x 21.5” 20 16 16

WIKE OF Tare PDU100 215" x 21.5" 20 16 16

P s DU1 10 21.57x 215" 20 s 18

r A PDU120 27" x 277 24 16 1L

s PDU135 2L % 27 24 16 15

........................... .- Joseph A. Reed, PE PDU150  |PDU165 32" x 32 28 20 20

éES;’:ff? '.';"f??;{_\'. Architectural Testing, Inc. PNUO80  |PNU100 32" x 32" 28 20 20

SIONHLE TX Firm F-11869 PNU120  |PNU135 32" x 32 28 20 20

77/ 130 Derry Ct. PNU150 |PNU155 |PNU160 | PNU165 36" x 36" 32 20 20

York, PA 17404 PNU185  |PNU200 36" x 36" 32 20 20

717-764-7700 PNU235 PNU240 PNU245 42" x 42" 40 24 24

Project No.: E8434.02-122-34 PNU290  |PNU295  [PNU300 48" x 48" 54 32 24

DWG NO. LET. REVISION RECORD BY CKD. DATE . .

__ 686 /o9ISheet 11/1 lersmes——rrrre—— 17 FOR WAL WOUNT TCR | ToB _|iz714713  Acme Engineering &
POU-PNU WALL MOUNT HURRICANE FANS[CGIWOOD SCREW PENETRATION AND CONCREIE_STRENGTH TCR [ TOB /27777 Manufacturing Corp.

MAT'L.

DRAFTER TCR DATE 12/9/15_
IETTCR 12/9715]™

gYHKD MFG.’ SCALE N —l— S

1820 N. York Street
Muskogee, OK 74403
918—682—//91




